
PHYS 2170

Fall 2021

General Physics 3 for Majors

Lecture 35

Angular momentum in two dimensions

November 17



1 Describe the central force problem in two dimensions in classical

mechanics.
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2 Repeat the calculation in quantum mechanics.
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3 Explain why angular momentum Lz is quantized.
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4 Discuss the general spectrum of a quantum system with rotational

invariance.
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5 A rotating molecule (in two dimensions) has Hamiltonian
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Estimate I. If photon emission can only change Lz by ±~, what are
the photons that can be emitted or absorbed?
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